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Problema	
  1	
  (3,0	
  pontos).	
  	
  

	
  

	
  
	
  

	
  
	
  

	
  
	
  

𝑁! − 𝑁! = 𝑃	
  

𝑁! − 𝑁! = 0	
  

𝑢! − 𝑢! = 𝐶!𝑁!,              𝐶! = 𝐿! 𝐸!𝐴!  	
  

𝑢! − 𝑢! = 𝐶!𝑁!,              𝐶! = 𝐿! 𝐸!𝐴!	
  

𝑢! − 𝑢! = 𝐶!𝑁!,              𝐶! = 𝐿! 𝐸!𝐴!	
  

𝐶! = 𝐶! = 2,50×10!!  m/N	
  

𝐶! = 1,25×10!!  m/N	
  

𝑢! = 𝑢! = 0	
  

−𝐶!𝑁! − 𝐶!𝑁! = 𝐶!𝑁!	
  

𝑁! =
𝐶! + 𝐶!

𝐶! + 𝐶! + 𝐶!
𝑃 = 60  kN	
  

𝑁! = 𝑁! = −
𝐶!

𝐶! + 𝐶!
𝑁! = −

𝐶!
𝐶! + 𝐶! + 𝐶!

𝑃 = −40  kN	
  

𝜎(!) =
𝑁!
𝐴!

= 120  MPa	
  

𝜎(!) =
𝑁!
𝐴!

= −57,1  MPa	
  

𝜎(!) =
𝑁!
𝐴!

= −80,0  MPa	
  

	
  
	
  
Problema	
  2	
  (2,0	
  pontos).	
  

𝑑𝑁
𝑑𝑥

= 0 ⇒   𝑁 = cte.	
  

𝑑𝑢
𝑑𝑥

=
𝑁

𝐸𝐴(𝑥)
+ 𝛼∆𝑇,      𝐴 𝑥 =

𝐴!
𝐿

𝐿 + 𝑥 	
  

𝑢 𝐿 − 𝑢 0 =
𝑁𝐿
𝐸𝐴!

𝑑𝑥
𝐿 + 𝑥

!

!
+ 𝛼𝐿∆𝑇 =

𝑁𝐿
𝐸𝐴!

ln 2 + 𝛼𝐿∆𝑇 = 0	
  

𝑁 = −
𝛼𝐸𝐴!∆𝑇
ln 2

= −1,44𝛼𝐸𝐴!∆𝑇	
  

max 𝜎!! =
𝑁

min 𝐴(𝑥)
=
𝛼𝐸∆𝑇
ln 2

	
  

	
  
	
   	
  

𝑷  𝑵𝟏  

𝑵𝟏  𝑵𝟏  

𝑵𝟐  

𝑵𝟐  𝑵𝟐  

𝑵𝟐  

𝑵𝟑   𝑵𝟑  

𝑵𝟑  

𝐴   𝐵   𝐶   𝐷  

𝐵   𝐶  

𝐵   𝐶  



Problema	
  3	
  (3,0	
  pontos).	
  
(a)	
  Segmento	
  𝐴𝐵	
  

	
  
𝜎!! =

𝑁
𝐴!

= 78,4  MPa	
  

𝜎!" =
𝐷!
2
𝑇
𝐽!
= 47,0  MPa	
  

𝜎!! = 0	
  

𝜎! =
𝜎!! + 𝜎!!

2
= 39,2  MPa	
  

𝑅 =
𝜎!! − 𝜎!!

2

!
− 𝜎!"! = 61,2  MPa	
  

𝜎! = 𝜎! = 𝜎! + 𝑅 = 100  MPa	
  

𝜎! = 0	
  

𝜎! = 𝜎!! = 𝜎! − 𝑅 = −22,0  MPa	
  

(a)	
  Segmento	
  𝐵𝐶	
  

𝜎!! =
𝑁
𝐴!

= 122  MPa	
  

𝜎!" =
𝐷!
2
𝑇
𝐽!
= 163  MPa	
  

𝜎!! = 0	
  

𝜎! =
𝜎!! + 𝜎!!

2
= 61,1  MPa	
  

𝑅 =
𝜎!! − 𝜎!!

2

!
− 𝜎!"! = 174  MPa	
  

𝜎! = 𝜎! = 𝜎! + 𝑅 = 235  MPa	
  

𝜎! = 0	
  

𝜎! = 𝜎!! = 𝜎! − 𝑅 = −113  MPa	
  

	
  

Problema	
  4	
  (2,0	
  pontos).	
  	
  

(a)	
   𝜎 =
0 𝜏 0
𝜏 0 −𝜏
0 −𝜏 0

  	
   (b)	
   𝜎 =
𝑠 2 𝑠 2 0
𝑠 2 𝑠 2 0
0 0 𝑠

  	
  

	
  
det

−𝜆 𝜏 0
𝜏 −𝜆 −𝜏
0 −𝜏 −𝜆

= −𝜆! + 2𝜏!𝜆 = 0	
  

𝜎! = 𝜏 2,      𝜎! = 0,      𝑒      𝜎! = −𝜏 2	
  

	
  
No	
  plano	
  𝑥𝑦:	
  

𝜎! =
𝜎!! + 𝜎!!

2
= 𝑠 2	
  

𝑅 =
𝜎!! − 𝜎!!

2

!
− 𝜎!"! = 𝑠 2	
  

𝜎! = 𝜎! + 𝑅 = 𝑠	
  

𝜎!! = 𝜎! − 𝑅 = 0	
  

Logo	
  

𝜎! = 𝜎! = 𝑠,      𝜎! = 𝜎!! = 𝑠,      𝑒      𝜎! = 𝜎!! = 0	
  

	
  


